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Please check whether you have got the right questmrrpape-l' . “Ctte PRt N Q'
N.B: 1. Question.No.1is compuisory. ey o R : =4
Z. Attempt any THREE questions out of remarmng FWEquestlons 2 ““ Y 3 H ;
3. Assume suitable data if necessary. :F R S ; e
Q.1 2} Determine poles & zeros of following impedance function. L) & T Ak -7105) '
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b) Draw dual of 2 given network. 3 B (05)

¢) Find 1, and Vs W- N - ' (05)
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d) Test whether thegulynumlal Pfs)is Hunwtz: P{st $% +35%+ 25 (05)

Q.2 a) The fqduced:(ﬂf—ldence matrix ofan or’éentgd‘ graph is (10)
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ij Drawthe ofiented grﬁpﬁ i
il) Write tie-set matrix
{ii) Write cut-set matrix,
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b) Find power loss in the 102 resistor in the circuit shown below using Norton's t_hF“"?_f“‘- N
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Q.3 a) State maximum power transfer theorem and gwe the p.ruq.p PR S
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b) What are the significance of initial conditions?. ~ _;‘ _;4‘ - Tt A P *aﬁ,\;‘"a
¢) Explain condition of reciprocity and svmmetry fg;!{ ﬁarameters R o ezt
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Q.4 a) Find current i(t) and the voltage V(t) W 4 S Y S g ik -@u
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{0 }, dt3 (Ej‘) when the switch is closed at t=o in the given circuit,
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b) Findi(0?), =
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5) FOr@ given network find Z — parameters. SIS F . ,{_{1@_.
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b) Find voltage ratio transfer function G, for network shown. 1 -lioj
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esize the given function in Cauer I form.
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b) sythesize follo e (06)
s3+2s

Q.6 a) Synth

wmg umpedance funt:tmn in Cauer il form .
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¢) Test whether F(s) - T is p. T f
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